ECONOMICS AND BUSINESS FACTSHEET No 1

These Fact sheets have been designed to help you in your study of either Business Studies or Economics. They are designed to introduce you to the essentials of each subject and allow you the opportunity to develop your understanding of the various ways in which you will be tested in the examinations that come at the end of your course. Wherever possible they will follow a simple but we hope effective layout. This will be:

· an introduction the topics to be covered in the individual Factsheet

· The main points you should have understood when you have completed the Factsheet. We will also link you to the wide range of materials available elsewhere on bized.

· the Key Terms you should be aware of the fully understand the topics covered

· some exercises and answers to check your understanding and progress

.

----------------------------------------------------------------------------------------------------

MANAGING SCARCE RESOURCES AND THE REASONS FOR CHOICE 

Awarding Bodies seldom examine the early parts of the Specification in a ‘direct’ way but nearly all questions require an understanding of these essentials. So, these early topics form the foundation on which the later sections of the Specification are built.

----------------------------------------------------------------------------------------------------

An introduction to economics

This Factsheet, which is in two parts, will concentrate on helping you to:

· know what economists mean by the term the ‘economic problem’

· understand the factors of production as economic resources

· explain the concept of specialisation and its economic benefits

· explain the concept of opportunity cost and the trade-offs that are part of economics

· explain the principles underlying production possibility curves

· understand the importance of money and exchange in an economy

· understand the role of markets

What is economics concerned with?

When studying economics we have to deal with a number of problems. All of us are familiar with the problems associated with unemployment or a change in our exchange rate. You are also aware of the continued debate between politicians as to whether we should join the ‘single currency’ and many of you will be conscious of the problems that befall those countries described as ‘developing’. Whichever problem we address the same fundamentals apply – we are studying a subject that is firmly based on a study of scarce resources trying to satisfy unlimited wants. As a result of this central problem, which is normally referred to as scarcity versus choice, we can agree on the role of the economist. It is to explain and analyse the nature of choice facing the various sections of the economy. These are:

· consumers

· producers and

· government

So, the economic problem is:

THE ALLOCATION OF SCARCE RESOURCES TO UNLIMITED WANTS

Because the basic economic problem exists, societies need to confront THREE interrelated questions. These are:

WHAT TO PRODUCE?

Alas, we cannot produce everything we want. So, we need to decide:

· what to produce

· how much of it to produce

Normally a society tries to establish a ‘balance’ between producing consumer goods (which provide consumers with the goods and services they want)

And capital goods (which provide the machinery and equipment needed to produce the consumer goods). The country is then trying to provide its citizens with the standard of living that satisfies the majority. This will probably include some defence, police etc but also a wide range of clothing and other products that we expect in a modern, advanced economy.

HOW TO PRODUCE?

Because resources are scare in relation to our unlimited wants we need to consider how resources are used so that the best outcome is achieved. This will require us deciding how we get the maximum use out of the resources, which are currently available to us. This also presents us with certain moral dilemmas, for we have to decide whether the most efficient method is the one people will accept. An example of this is that most agriculturists agree that the use of genetically modified seeds will improve output. However, many countries have banned their use. When trying to maximise output and satisfy wants we also need to consider the full impact on society of such decisions. It would be a foolish economist who ignored the impact of their decisions on the environment or on the most vulnerable members of society.

FOR WHOM TO PRODUCE?

Our inability to satisfy all the wants presented by society means that we have to decide how much of each person’s wants is to be satisfied. This means that we need to decide whether:

· everyone is going to have more or less or equal share of what is produced

· some will have more than others

In some countries deliberate attempts have been made to reduce inequalities by re-distributing wealth and income from the richer members of the community to the poorer members. This has meant that the tax system has been used to take part of the income of one individual and move it into the pocket of another, less well-off person. In other countries no policies of re-distribution exist and individuals are free to earn whatever they can.

It is worth noting that economist have to be aware of: philosophy, politics, sociology and other subjects that form part of the decision-making process.

A short exercise

‘Many men now retire earlier than the official age of 65 years for a male worker. Forecasters now estimate that by the second decade of the twenty-first century nearly one-third of the UK population will be aged over 65 years. Such a huge group will have a large purchasing power. Being old no longer means being poor as transfer benefits and private pensions allow many of the elderly to enjoy a secure financial life. However, the physical condition of the elderly still makes many calls on the health service and other important parts of the ‘welfare state’.

Elsewhere in the world the age of the most senior members of society is also creeping upwards. However, in the ‘developing world’ this trend is causing different problems in the decisions of resource allocation. By the end of the year 2000 there will be over 400 million people living in the ‘developing world’ ho are over 60 years of age. That is twice as many as in the ‘developed world’.

Discuss the significance of the changes outlined above for the decisions concerning:

· what to produce

· how to produce

· for whom to produce

Limited resources

The resources that are available to us to make the goods and services we want are classified as the factors of production. Individually they are known as:

Land – these are the natural resources that are found on the surface of the planet and the mineral deposits below the surface and the climate above.

Labour – this is the human resource and is governed by those members of a population who are capable of joining the workforce. We have to remember that some people are not available for work, as they are too young, too old or choose not to work.

Capital – These are the man-made aids to production. We include in this category all items that help us to produce something, so it can be as simple as a drill or as sophisticated as a large industrial factory. It is the application of capital that improves the output from land and labour. The factors are organised into units of production by firms.

Enterprise - this factor has two functions within an economy. Firstly, it organises the other three factors of production and secondly it takes the risk of production, which is part of any free enterprise or market economy. In small companies this function is often the responsibility of one individual, whilst in larger companies ‘management’ organise the factors and shareholders take the risks.

The availability of factors differs from one economy to another. Those with access to large amounts of factors can provide a wide range of goods and services for their population. However, those not capable of acquiring large amounts of resources cannot provide such a wide range of goods and services for their populations. This is known as factor endowment and as we shall note on later Factsheets those economies with a low factor endowment have some very difficult choices to make.

To complete you notes on this essential topic we suggest that you look closely at the diagram of the basic economic problem, which is available in the diagram bank.

A short answer question

Some ideas on what should have appeared in your responses.

· What to produce – the market is changing and the elderly will have different demand patterns. They will have more money to spend on goods and services. So, we might see more Homes for the Elderly, different services offered by ‘welfare workers’ and companies such as Boots will need to think carefully about their product range.

· How to produce – this may also alter as people put pressure on resources. New methods of production may have to be developed and who will supply the wants of those living in less developed economies

· For whom to produce – obviously we will need to address the changing demand patterns and decide how we will price say medical care of those living in Homes.

So, this fundamental change in an economy will force major re-thinks. That’s economics!

Multiple Choice

1. Choice is fundamental to economic behaviour because:

A. People find it difficult to choose what they want

B. Resources are scarce in relation to people’s wants

C. Choosing makes people act rationally

D. Prices depend on people making choices

2. Consumer wants refer to:

A. all those things people would like to have

B. the goods and services that consumers are able and willing to buy

C. all those goods required by a consumer to sustain existence

D. all the items within a consumer’s purchasing power

3. Resources are sometimes called:

A. Profits

B. Transfer earnings

C. Factors of production

D. Wages and salaries

4. Which one is a good example of a consumer good?

A an office word processor

B a sales representative’s car

C an office

D a private telephone

5. Which of the following is an example of a capital good?

A. a motor cycle

B. a radio

C. a gun

D. a delivery van

Short answers

1. What do the term’s ‘scarcity’ and ‘choice’ mean?

2. From the following give two examples of (a) goods and (b) services from the following: retailing, blast furnace, doctor, banking, a cigarette and a delivery van.

3. Give brief definitions of the following:

(a) allocation of resources

(b) shortage

(c) gluts

Answers

Multiple Choice

1. B
2. B
3. C
4. D
5. D
Short answers

1. Scarcity occurs when the resources of a country are unable to produce a sufficient quantity of commodities to meet desires. Choice occurs because resources are limited and consumers have to choose between alternatives

2. A good is a tangible item used to satisfy our wants. Two examples of a good are a blast furnace and a cigarette. A service is an invisible item used to satisfy our wants. Two examples of a service are retailing and a doctor (or banking).

3. All societies have to decide the best use of their scarce resources. They therefore need to decide how to allocate their resources. A glut of a good or service means that the market has too much of this product. It is likely that this will cause the price to fall, whilst a shortage means that insufficient exists to meet consumer demand and the price will probably increase.

Some key terms you need to know

Capital Goods - man-made aids tom production, such as industrial machinery and factories. It is one of the factors of production.

Choice - a consequence of the economic problem, for within economy consumers, producers and governments have to select from the various ways in which scarce resources could be used/allocated.

Consumption – the process by which goods and services are used to satisfy wants.

Economic problem – the fundamentals underpinning any economy in which we have to decide how to allocation our scarce resources

Enterprise – that factor of production that both organises all the other factors and takes the business risk.

Factor endowment – how much of the resources needed to develop any economy is available to a particular country and their quality.

Labour – the human resources available in an economy. One of the factors of production.

Land – the natural resources available in an economy. It is one of the factors of production.

Resources – anything that contributes or can contribute to production

Risk – the uncertainty that entrepreneurs face in the production process

Scarcity – part of the central problem of economics in that with limited resources and unlimited wants a choice has to be made.

Wants - anything that someone might wish to acquire.

